vikay®

3.c. Gear Box Rotary Head 70706379 Mining Equipments

= &R

= (D

e -

/
-

[

"

i

=
I =4

¥

@
D

All manufacturer’'s names,numbers,photos,product description and/or part numbers are used for reference purposes only & it is not implied that any part listed 15
is the product of these manufacturers. Since Approvement are made from time to time, the illustration and specifications are subject to change without notice.



vikay’

3.c. Gear Box Rotary Head 70706379 Mining Equipments
No. Description Ref. Part No.| QTY
1 Casing, Input 70115662 1
2 Pinion, Input Shaft 94156106 1
3 Bearing, Ball 94140993 1
4 Clrclip 94129483 2
5 Circlip 94127974 2
6 Seal.Oil 94153350 1
7 Assembly. Idler Shaft And Gear 70085014 1
8 Bolt, M 10 X 120 Long 94126018 2
9 Bolt M 10 X 90 Long 94193422 7
10 Washer, 10 Mm B 94038650 9
11 Nut M 10 94034154 9
12 Washer. Spring B10 94034170 9
13 Cover, Air Swivel 70693098 1
14 Plug Oil Level 94141009 1
15 Casing, Output 70115670 1
16 Bearing. Needle Roller 94141017 2
17 Screw Hex. Head M6 X 20 Long 94038676 6
18 Plug, Drain 94044070 1
19 Bearing, Taper Roller 94141033 2
20 Assembly, Shaft gear 70085022 1
21 Nut,Lock 94141041 2
22 Washer, Locking 94141058 1
23 Gasket 94078490 1
24 Dowel 70025648 1
25 Housing, Air Swivel 70693080 1
26 Seal. Qil 94078599 1
27 Seal, Gland 94078573 1
28 Gasket 94137254 1
29 Washer. Spring 8 Mm 94036928 6
30 Screw, M 8 X 20 94036811 6
31 Seal, Wiper 94078581 1
32 Bearing, Ball 94352291 1
33 Plate Adapter 70034095 1
34 Screw -M 6 X 16 Long 94042785 3
35 Washer Spring 6 Mm 94037785 9
36 0-Ring 70034103 1
37 Name Plate Si.No. 70085857 1
38 Rivet 94129202 4
39 Spacer 70189845 1
40 Breather 70530068 1
41 Adapter « 70033097 1
42 V Seal 70694450 1
43 Shim 70694443 1
Kit,..Maintenance (Includes Items 3, 4, 5, 16, 19,23,"26,27, 28, 31,32 &|42) 70706387
Kit, Seal (Includes ltems 6, 23, 26, 27, 28, 31 And 42) 70706395

16 Al manufacturer's names,numbers,photos,product description and/or part numbers are used for reference purposes only & it is not implied that any part listed
is the product of these manufacturers. Since Approvement are made from time to time, the illustration and specifications are subject to change without notice.



